Is the shortcut actually shorter? Day 1
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Reese and her dad are on a very long walk. Her dad says they should go up 3 miles and
over 4 miles. Reese says they should take a “shortcut” to get home faster. Is the shortcut

actually shorter?
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. What is the total distance of the dad’s path? Show your work.

3+4 = T miles

. Do you think the shortcut is actually a shorter distance? Make a guess at the shortcut distance.

Ves shorter. S or 6 miles.

Let's model the two different paths using pieces of spaghetti. Measure one piece of spaghetti to
be exactly 3 inches and another to be exactly 4 inches. Then break a third piece of spaghetti to be
the shortcut path.
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. Do you think the shortcut piece of spaghetti is longer or shorter than 3 inches? Compare the
spaghetti pieces to be sure.

Lonser than 3 inches 3

Do you think the shortcut piece of spaghetti is longer or shorter than 4 inches? Compare the

spaghetti pieces to be sure. V
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Measure the actual length of the shortcut piece of spaghetti. How close was your guess from

question #17 .
5 inches

How much shorter is the shortcut than the dad’s path?

T miles = § m}(e/g z A, m}@S

7. If the dad’s path takes 84 minutes, how long would the shortcut take? How much time is
saved? 84 .
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84-60 = 24 minvtes soved o= STATS MEDIC
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Is the shortcut actually shorter? Day 2
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Reese and her dad are on a very long walk. Her dad says they should go up 3 miles and
over 4 miles. Reese says they should take a “shortcut” to get home faster. Today we
discover a pattern that will help us find the distance of the shortcut.
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1. Use spaghetti pieces to find the distance of the shortcut for a walk on each day.
i G
upP OVER SHORTCUT
Day 1 3 4 5 Nohice :
oy2 [ 6 ] [ s 10 Are=C_C .
does not wol
Day 3 5 12 (3 g
2. Now take each number in the table above and multiply it by itself.
UP x UP OVER x OVER SHORTCUT x SHORTCUT
Day 1 aq + 16 - 25 )
- = Notice:
Day 2 3@ + = ° y B 2
A+87=C
Day 3 _L 4 ' LL" - l 6q d% W{k
3. What pattern do you notice with the numbers in this table?

For each day, the st rumber + 2nd nombe- = 3'4 numbe/”

4. Describe the pattern in words.

UP muitiphed by ttself lvs oer IhuH':Plud by ke €
gives e shorteut mu\hp(lw) by tself

5. Write an equation that goes with the pattern.

r?an UP > Up *+ overx overs skortcut X shortcut
mﬁ A" + B = (c? o= STATS MEDIC
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Is the shortcut actually shorter? Day 3
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Reese and her dad are on a very long walk. Her dad says they should go up 3 miles and
over 4 miles. Reese says they should take a “shortcut” to get home faster. Today we find

unknown distances.

(UP)* x (over)’= (sworico)” or A*1 B - ¢t

1. What is the pattemn we discovered yesterday to relate “UP”, “OVER", and “SHORTCUT"?

2. Without using spaghetti pieces, find the unknown distance on each day. Show your work.

A*+B*=Cc?

%f, 11;2:; (aq-

(S IS =226 Bl 4y = ¢ 2

22§ = ¢c*?
‘l&' 2 ¢ |

172280 A%+ BTzt

At+ IS =7t
A>+ 226 = 2609
At=ceH

Ar+B% = ¢ ?

26%= 626 24 B? = 28"

UpP OVER SHORTCUT
Day 4 9 12 s
Showwork:  g2=g| 122214y %, 1S

B+ 4y =225

up OVER SHORTCUT
Day 5 %) 15 17
Show work: 152- 225

%3 =bY
268725 = oy
Je# =8

up OVER SHORTCUT
Day 6 24 7 25
Show work: 24%=S76 7-7=4q

625 -576 =19 {4a=7

S76+@t
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o= STATS MEDIC



